Convolution Numeérique

Arthur Garnier

1 Rappel : Convolution analogique

x(t) = H — y(t)
y(t) = z(t) * h(t) avec h(t) = H[4(t)]

2 Convolution numérique

* yn =y(nTe)
o x, =2x(nTe)
e h, = h(nTe)

que vaut y, relativement a x,, et h, ?

0= i xn0(t —nTe) = i(t)

n—=—oo

a(t) = g(t) = &(t) avec g(t) = KTF~'[My,(f)]

* Nr.(f)=Lpow f &[5 5]
e My, (f) =0 sinon

() = 3 hod(t — nTe)

h(t) = g(t) * h(t)

i

y(t) = g(t) x &(t) x g(t) « h(t) = > nftyz,0(t —nTe)

n=-—oo

S nftyd(t - qTe)

g=—0



	Rappel : Convolution analogique
	Convolution numérique

